Hang-arfes
i fauat: 3 uie fasuat: 45 ma
yGiait: 50 Wd
Wigfad HSTAS: 05 Ma
(FF §a: 2 %, {Ade: 3 Wd-5 ¥d)

g8: 100 Ha
YHG-U 39 € gu-3ur (fauat)
1. f8u3t yms- 5 YAS J=arl
2.
grarl fes 11 engferms yas (. & 1-11)
J=ar | famer FEs I T T|
11x1=11 %d
grar- 2 2-21
T8 yHs gat ynst € €39
10- T ZTaHT 8x3=24 Md
gTar-3 &:22-25
150- BTt 31 2x5=10 W
yrst €t fam W ySt | yEst &t I8
Hs A gar- g - e
1 W 11 7 4 11
3WT 10 6 4 24
59d 04 2 2 10
a5 25 15 10 45
ursqH faust
gar-€
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YHG-U'3T € gu-3yT (YGai)
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3. fart <t gmar :
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Het enst
11. A3 ¢
T fau3t: 3 uie fasu3at: 45 ma
yGiait: 50 Wd
wigfaad HBTaS: 05 Wi

(@ §: 2 9, YHde: 3 Wd=5 9d)

g5: 100 Ha
YHS-U 39 €1 gu-3ur (faust)
3. foudt yms- 5 YAS J&Jr|
4.
grarl fes 11 engfems yas (. & 1-11)
J=ar | famer FTEs I T T|
11x1=11 "d
gTar- 2 2-21
T8 yHs gat ynst € €39
10- T ZTaHT 8x3=24 Md
gTar-3 &:22-25
150- BTt 31 2x5=10 W
yrs’ & fam Wyt | ymst &t R
UHS Aty gar- g - e
1% 11 7 4 11
3WT 10 6 4 24
59d 04 2 2 10
a5 25 15 10 45
usaH (fsush)
gar-&
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M3gT
2.
3.
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grdr-A

4. 3 TES AIST;
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YH&-U3d Ha
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AT - enst

12. HJil3 3987

T feuat: 3 uie fauat: 45 v
yGiait: 50 Wd
wigfad y&ias: 05 Ha
(T §a: 2 %, §Hde: 3 Wd-5 ¥d)
g5: 100 Wd
YHS-U 39 €1 gu-3ur (faust)
5. feudt yas- 5 YAS J&Jr|
0.
grarl fes 11 engfems yas (. & 1-11)
Jd=ar| farer R T|
11x1=11 A
gar- 2 2-21
T8 yHs gat ynst € €39
10- T ZTEMT 8x3=24 Md
g7d1-3 &:22-25
150- BTEHT T 2x5=10 W
yrst € fam HTySt | ymst et 35
UHs At ga-€ | Fgar-u T
19 11 7 4 11
3Wd 10 6 4 24
5 04 2 2 10
a5 25 15 10 45
gar-€
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1. EgTe Wbt

JdoTI

grdr-m

YHG-U'3T € gu-3yT (YGai)
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